TIRE TOTTER 4-HOLE

p p
y 4
y
S

TIRE TOTTER
BASE

HARDWARE

SHOULDER BOLTS 5/16-18 X 1/2"

5/16" X 1-1/2" BOLTS

5/16" LOCK NUTS

5/16" WASHERS

TIRE TOTTER
CRADLE

BEGIN BY UNPACKING
ALL BOXES AND
LOCATING THE HARDWARE BAG

Step 1.  Line up the Cradle and Base holes as shown.

Insert two Shoulder Bolts into the holes and
tighten both at the same time.

Step 2: Mount using the provided 5/16" x 1-1/2"
Bolts, 5/16” Washers, and 5/16” Lock Nuts.

13/
T

_ 4-5/8"_]

12-5/8"




